ECONOMETRICS 11, Fall 2020.
Bent E. Sgrensen

Class notes on ML.

Consider the standard Normal N(u,0?). The log likelihood is —3logo? — %(:”;5)2. So

the score is
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We get the Hessian by differentiating again
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Take the expectation (which will be the limit when the number of observations in the

likelihood function goes to infinity)
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We see that the variance of the estimates of y and o2 are 0% and 202, resp.

What if we take the outer product of the scores, i.e., dl dl’? We have
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Take the expectation and get
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Collecting terms, we see that we get Edldl' = —FEH. Pretty cool, no?
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